Department of Mathematics

éast los 4»5e/es College

Math 261 2
Test 1 l)(
Show Your Work for Credit
Evaluate the following limits
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Answer the following questions.
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8. Is the function continuous at x = 1, explain why or why not?
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11. Is the function continuous at x = 0, explain why or why not?
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14. Is the function continuous at -5, explain why or why not?
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17. Is the function continuous at x = 2, explain why or why not?

— v

-0



18. Show that x® = 2x — 5 has a solution in the interval - ¢—d,0)
Hint: Use the Intermediate Value Theorem
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Determine the interval of continuity for the following functions.
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Use the definition of derivative (mtan) to determine the equation of the line
tangent to the curve for the following functions at the indicated points.
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Use the definition of derivative to differentiate the following function.
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